o(0 @) (rad)

Ratio

oo ny) my

0L p/p,)

,_\
S

1072

o(0 cot(y))

1072

=
o
W

T T T ¥ r

1072k

107 E
o 104 I
T 12
o 1
1
:2 3 08 ;1 :2 3
1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWT-oldsamples
£
S
gN
e
©

&W#ﬁi_

Ml

! TPlpg)T (PCA

3
t]c')oéeamlinéjo

,_.
<
L

-tdd--f-

¥

1

I (Pca

H - \
t%)obeamlin%)o

1072

9 1 .

: 15»‘*m+-+$}.... LI SE—
08"’# ------ l ~ .::.:: ________________
107 1 TPlF?T (PCA



	Contents
	Page 1


